**om

$=1/500

N S 7 [ (X

$=1/50

BTER L=42.0m

0002

—E¥

L=42. 0m (—RXHY)
% i R i} & | #®
<EHEIDY—F>
avy)—+t o ck=18N/mm2 25 m3
B # 84 m2
B i # 3 m2
<ERIAVHYU—b+>
avy)—+ o ck=18N/mm2 11 m3
S # 53 m2
% i D13 L=300 168 FN
B i # 1 m2
<F{RIAY)—F>
avy)—+ ock=18N/mm2 3 m3
S # 5 m2
B # # 0.3 m2
<EAEm>
Ui K X A H-175%175%7. 5%11 2 FN
LEE3: 2 #8
PR XH H-200%200+5. 548 13 *x
&M@ -0—7 H-2.0m 7A$# 41 m

ERET—

EpaoU—+

(Im%fY)
% R #H % # g | B
<EREADIU—F>
arvyy—+ ock=18N/mm2 0.60 m3
& # 2.00 m2
<® AVHU—F>
ary)—+ o ck=18N/mm2 0.25 m3
£ # 1.26 m2
E:S % D13 L=300 4 &
<EFRADIYU—F>
arvysy—+ o ck=18N/mm2 0.07 m3
S # 0.11 m2
<EAHER>
WARXAE H-175%175%7. 5%11 BEEE
LES3: Bl £
PREX A H-200%200+5. 5+8 BEEE
&@-0—7J H-2. Om 7&# Bl E £

ERE

I%4

MEL WBAETR X AETAR RRBEAIE 0 (BVFERY)

BRe%

(=) PHRETR

TEE/

XENRETAE (5298

S

FER SENER

#R

RiR

| maEs |

/

1

EpE

XD

BERRERERRIBRFEIEE>



